A & 0l & A

20219 = =& 3 3 JIEHSE3H &H (chel: &)
20k 22 - HAAIY - SAAH(3IH) Ol &F oA J 3 o HwE2 e
So=
5 Al 17,651,270 16,017,687 2,633,583 17.54%
ALY 15,103,550 12,653,008 2,450,542 19.37%
HWegs 2,547,720 2,364,679 183,041 7.74%
HE2HZH 0 0 0 0.00%
g 8,028,217 5,395,474 2,632,743 48.80%
ot - =2 8,028,217 5,395,474 2,632,743 48.80%
Y =AY Hul 4,873,473 2,423,771 2,449,702 101.07%

N (HEZ+EMNEELESA) 1,608,384 1,608,384 0 0.00%

Y oy NYgd)Izs 28 (¥sd2E 2,471,362 40,000 2,431,362 6078.41%
=]

2 +EMS NYA(HEZ2+EHA 793,727 775,387 18,340 2.37%

o= 2e 2,948,390 2,948,390 0 0.00%
Ngase 2 (42T AESESA) 1,983,390 1,983,390 0 0.00%
Neatae A(E=CAESERA) 965,000 965,000 0 0.00%

Heas(szaelt) 206,354 23,313 183,041 785.15%
SBHNE(HEZENLEELIA ) (BEZSE 206, 354 23,313 183,041 785.15%
HES3H)

At = Xl 3,002,533 3,001,693 840 0.03%
l=dge2d 3,002,533 3,001,693 840 0.03%

QI ZMEEDE 2 HASS YEHIXR 2,880,967 2,880,127 840 0.03%
=gk MEHATZ 2L (NEBISSES 1,788,549 1,788,549 0 0.00%
A
ARS0 =2 X 22l (ASS0HSEAH) 1,092,418 1,091,578 840 0.08%

Hegs(Fasx) 121,566 121,566 0 0.00%
SHNE(ASSHELEZIAH) 121,566 121,566 0 0.00%

S ol 2=t 5,744,330 5,744,330 0 0.00%
sg-s& 5,744,330 5,744,330 0 0.00%

sEE=Es NFAY 3,524,530 3,524,530 0 0.00%
SHEASSUH XNFAML(SHLASSUHAMY 3,524,530 3,524,530 0 0.00%
Sg3IH)

Heas(satn) 2,219,800 2,219,800 0 0.00%
BENE(SHUASSUHAMESESSIH) 2,219,800 2,219,800 0 0.00%

A - SAINHL0U UK 3,300 3,300 0 0.00%

Ol L XI & XHOH & 3,300 3,300 0 0.00%
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